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In the activity arrangement diagram shown here, the reason that the fewest lines extend to and from activity area A to the other areas is that:

A – Activity area A is relatively unimportant to overall operations
B – People in activity area A are management, and should remain somewhat isolated from the rest of the activities.

C – Activity A – whatever it is – is not within the same functional area as any of the other areas

D – Three is relatively less flow of people, materials and so forth into and out of area A

I believe the answer is C or D not completely sure

